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1) i ) 2×2 ✗ 2×2×2

= 25

= 32 outcomes

ii) Lets be the sample space
S = { HHHHH , HHHHT , HHHTT, HHTTT , HTTTT , TTTTT,

TTTTH , TTTHH , TTHHH , THHHH, HTHTH , THTHT,

HHTHH , TTHTT , HTTHT , THHTH,
THHHT

,
HTTTH,

THHTT
, HTTHH , HHTTH ,

TTHHT
,
TTHTH

,
HHTHT

,

HTHTT
,
THTHH

,
THTTH , HTHHT , HTHTT , THTHH,

HHHTH
,
TTTHT }

Iii) Let Abe the event that tails will be occurring at least 2 times

A = { HHHTT
, HHTTT , HTTTT , TTTTT, TTTTH , TTTHH , TTHHH ,

HTHTH
,
THTHT, TTHTT , HTTHT , THHTH,

THHHT
,
HTTTH,

THHTT
, HTTHH , HHTTH ,

TTHHT
,
TTHTH

,
HHTHT

,
HTHTT

THTHH
,
THTTH , HTHHT , HTHTT , THTHH, TTTHT }

P(A) = 21
32

iv) Let B be the event of getting all heads and all tails

B= { HHHHH
,
TTTTT}

PCB) =

2- = 1-
32 16



blue = 10 Let A be the event that the first ball is red and the second ball is blue

red = 5 PC A) = 5 ✗ II

total = 15 -15 14

= 5
-

= 0.2381

21

i) Let two coins be coin1 and coin 2

Let A be the event
"

coin 1 obtain tail
"

Let B be the event
"

coin 2 obtain tail
"

P (A) = PCB) = I -0.8

= 0-2 -: A and B are independent events

let C be the event
"

the result be both tail
"

P (c) =P(A) . PCB)
= 0.2 ✗ 0.2

= 0.04

4) i) Let D be the event that applicants have a score lower than 3.00

D = 1000 - 150 - 520 - 100

= 230

P (D) =

23J = 0.23

1000

Ii) Lower than 3.00 = 20 × 1000 let A be the event that students get CGPA between 3.00
-

100
and 3.5

= 200 students

A = 1000 - 200 - 520 - 150

= 130



5) i) red = 10
"

Cio ✗ 1%5 = 0-0163

blue = 10 2°C 15

total = 20

ii) red = 30 New marbles = 100 -20 red blue green total

green = 50 = 80 old 10 10 0 20

blue = 20 new 30 50 50 80

let N be the event of new marbles total 40 GO 50 100

PCN) =8o- = 0 -8

100 PCNA 9) = 0.5

:-P ( Nva) = PCN) + Pca) - PCNNG)
Let G be the event of green marbles = 0.8+0.5-0.5

PCG) =

,5÷
= 0.5

= 0.5

Iii) Let R be the event of red marbles

PCN)= 0.8 "- PIRIN

)=P(pYLP( RAN) = 0-24

PCRIN) = ? = 0.24

-0-8

= 0.3



6) i) PCA) = 0.1

P(B) = 0.15

PCC) = 0.35

P(D) = 0.40

ii) PCHIA) = 0.2

PCHIB) = 0-4

P( Htc) = 0-6

PCHID) = 0.7

iii) P ( Aln) = PCHIA) • PCA)

PIHI A) • PCA) + PIHIB) • PCB) + PCHIC) • PCC) + PCH/D) • PCD)

= (o -2)( 0.1)

( 0.2)(0.1) + ( 0.4)(0.15) + ( 0 - 6)( 0.35) t (0.7-110.4)

=
0.02
-

= 2-

0.57 57

= 0.0351

P (BIH) = PCHIB) • PCB)

PIHI A) • PCA) + PIHIB) • PCB) + PCHIC) • PCC) + PCH/D) • PCD)

= (o- 4)(0.15)

( 0.2)(0.1) + ( 0.4)(0.15) + ( 0 - 6)( 0.35) t (0.7-110.4)

= O = 2-

0.57 19

= 0.1053



P ( CIH) = PCHIC) • PIC)

PIHL A) • PCA) + PIHIB) • PCB) + PCHIC) • PCC) + PCHID) • PCD)

= ( 0.6)(0.35)

( 0.2)(0.1) + ( 0.4)(0.15) + ( 0 - 6)( 0.35) t (0.7-110.4)

= 0-21
-

=

Ya
0.57

= 0.3684

P (D IH) = PCHID) • PCD)

PIHI A) • PCA) + PIHIB) • PCB) + PCHIC) • PCC) + PCHID) • PCD)

= 10.7)(0.4)
( 0.2)(0.1) + ( 0.4)(0.15) + ( 0 - 6)( 0.35) t (0.7-110.4)

= 0.2£
0.57

= 0.4912

iv) PCH) = P(HI A) • PCA) + PCHIB) • PCB) + PCH/c) • Pcc) + PCH/ D) • PCD)
= ( 0.2) (0.1) + ( o - 4) ( 0.15) + ( o . 6)(0-35) t (0.7-710.47)
= 0.57


